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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-7_0
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P3-7

BrE) | GEBAKE) | ERE(EH/AR) | EREE (F/R) [ XS R

07:55 283 150.0 2.583 || FnHRe07:55 KENFEF (RAB{EREEE
08:50 283 150.0 2.583 [dhif§| FMHA@O8:50 KENFEF (kA{EEIER)
10:00 283 150.0 2.583 [dhig| FHEA@10:00 KEFEF CGRAMEESE)
10:55 283 150.0 2.583 (| FHHA@10:55 KENFEF CRAfEEIER)
11:50 283 150.0 2.583 || FmHR@11:50 KREIEF CGREERSE)
12:40 283 150.0 2.583 [dhif§| TFhHA@12:40 kEIEF CGRAHESE)
13:30 283 150.0 2.583 || FnHRe13:30 RHEEFE CGREERSE)
14:25 283 150.0 2.583 || FifAe14:25 KREFEF CGREEEE)
15:25 283 150.0 2.583 [/\ig| TFhEA@15:25 KENFEFE CGRAfREER)
16:35 283 150.0 2.583 |/ fi| FnHRe16:35 KREHIEFE CGREMERSE)
23t 2830.0 (100%) 1500. 0 IHKEC: 2200, PH: 6.0

FREVEN S Kt i%PH 6. 005
REE NS KIFHIKEC 2200. 0
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P3-7

BfiE) | GEBATIC (7)) | ERE (BEA/f) | ERERE (B/R) 5 ERE
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11:30 273 150.0 2.583 FA| {Ri%@11:30 Bz CGkAEESE)
12:45 273 150. 0 2.583 PH| {Rige12:45 Bz (RAERSR)
B4t 1638.0 (6%) 900.0 ZHIKEC: 2200, PH: 6.0

FEREHER 2 STEELRF (176.0

ERIASSBRIERL145.0 ml.

FRAVE NS KFHZPH 6. 005
FRAE NS RIFEREC 2200. 0
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P3-7

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

05:35 273 150.0 2.583 FA| 1BRi%@05:35 B3zh (KAIEREEE)
06:35 273 150. 0 2.583 | =| {Ri%e06:35 B (KREZBE)
07:35 273 150. 0 2.583 |Z=&| 1BRi&e07:35 Bzl (RAERE)
08:35 273 150. 0 2.583 |Z=| {Ri&e08:35 Bz (KREAEHSE)
10:10 273 150.0 2.583 FA| {Ri%@10:10 Bz (GRAERE)
12:20 273 150. 0 2.583 FA| 1BRi%@12:20 B3h (RAB{ERSE)
13:25 273 150.0 2.583 FE| 1BRi&@13:25 Bzh (RAEREE)
14:25 273 150.0 2.583 FA| {Ri&@14:25 Bz (GGRAERE)
15:20 273 150.0 2.583 FA| 1B2i%@15:20 B3h (RkAERSE)
21t 2457.0 (9%) 1350.0 3EIHKEC: 2200, PH: 6.0

FEREHERE STEELRF (173.0

FRIAEPRIEBRE142.0 ml.
large discrepency for begining water status (401:222.0), set to 401 ml.
HERVE S R GPH 6. 005
RRENE S REIREC 2200. 0

142.0), AIEERT—@E XAH5




P3-7_0, Day=76 (2025-06-13)
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